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H401 - Differential Equations (Quiz#3) Quiz Start Time: 03:28 PM, 08 Febr
sstion # 10f 10 ( Start time: 03:28:44 PM, 08 February 2022 ) Tot
fthe system is impresseduponbya ____ farce and there is no damping force then there is no transient term in the solution.
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Question # 2 of 10 ( Start time: 03:29:58 PM, 08 February 2022) Total Ma
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The equation, (z* + I)F‘f + ZId—y + fiy = 0, has the singular point(s) at = = A
r
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| MTH401 - Differential Equations (Quiz#3) Quiz Start Time: 03:28 PM, 0¢

Question # 3 of 10 ( Start time: 03:30:44 PM, 08 February 2022 )

ThE = s o force is proportional to the instantanecus velocity

dr
dt
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question # 4 of 10 ( start time: 03:31:25 PM, 08 February 2022) Total

oa gyt
The infinite series 3 ["+(I + 3)". is a power series in x centered at
n=1
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‘ MTH401 - Differential Equations (Quiz#3)

Question # 5 of 10 ( Start time: 03:32:22 PM, 08 February 2022 )
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Quiz Start Time: 03:28 PM, 08 Februan
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Auiliary equation of the differential eguation

Ldy dy
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C. fm+{g—fim*+h =0
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Question # 6 of 10 ( Start time: 03:33:13 PM, 08 February 2022) Tota
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In the study of mechanics, cosider the damping force acting on a body ie. — 3 ('E:z:) , where Fis a

damping constant and negative sign indicates that the damping force acts in a direction
to the direction of motion.
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MTH401 - pifferential Equations (Quiz#3) Quiz start Time: 03:28 PM, 08

question # 7 of 10 ( Start time: 03:34:06 PM, 08 February 2022 )

The singular points need not to be number.
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Question # 8 of 10 ( Start time: 03:35:10 PM, 08 February 2022 )
Consider a power series
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Question # 9 of 10 ( Start time: 03:35:48 PM, 08 February 2022 )
The power series, I—:, _ x=1 to the number e.
el n.
Select the correct option ) reld
CONVETZes
O, Download More Quizzes Files From
VUAnNnswer.com
diverges
[
M
= Click to Save Answer & Movg




SaT 337 W8 < R % @)

X @ Q<
[ ]
vulms.vu.edu.pk
L §&
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question # 10 of 10 ( Start time: 03:37:06 PM, 08 February 2022 ) Total Mai

A function f is soid to be analytic at o point ‘a’ if it con be represented by a power series in (x-a) with o radius of convergence.
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